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const int MAXN=55,Mod=1e9+7;

struct Edge
int to,next;

edge [ MAXN<<1];

int head MAXN|,edge cnt;

void Insert(int u,int v
edge| ++edge cnt|=Edge{v,head/u]};
head|u|=edge cnt;

int sz[MAXN|,msonMAXN|,tot sz,root sz;
int h1[MAXN]|,h2[MAXN];

vector<int> rt;

vector<pair<int,int> >root[MAXN];

void find root(int u,int fa
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szlul=1;mson|ul=0;
int i=head|u];i;i=edge[i].next
int v=edgel|i|.to;
v==fa

find root(v,u);
szlul+=sz|v];
mson|ul=max(mson|ul,sz[v]);

mson|u/=max(mson|u|,tot sz-szlul);
mson|ul/<root sz
root sz=mson|ul;

void Hash(int u,int fa
szlul=1,h1lul=h2[ul=0;
int i=head|ul;i;i=edgeli].next
int v=edgel[i].to;
v==Ffa ;
Hash(v,u);
szlul+=sz/v];
hllu hl/ul+1LL*h1l[v]*sz|[v])%Mod;
h2u h2[ul+1LL*h2 v ]*sz[v])%Mod;

hllul=(hllul+sz|u]l)%Mod;
h2[u 1LL*h2[ul*sz[ul+sz/u]l)%Mod;

bool cmp(int a,int b

root|al.size()!=root|/b].size
false;
root[al.size()==
root|a ==root|b
true;
rootla ==root/b &&root|a
true;
root|a ==root|b &&root|a
true;
false;
int main

int T=read int(),n,p;
_rep(k,1,T
n=read int(),edge cnt=0;
_rep(i,l,n)head|1i]|=0;
_rep(i,1,n
p=read int();
p)Insert(p,i),Insert(i,p);

==root|b

==root|/b
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rt.clear();
tot sz=root sz=n;
find root(1,0);
_rep(i,1l,n
mson|1i/==root sz
rt.push back(1i);

_for(i,0,rt.size
Hash(rt[i],0);
root k! .push back(make pair(hl|[rtii]]|,h2/rt[1 C

_rep(i, 1,k
cmp(i,k
enter(1i);
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const int MAXN= ,Mod=1e9+7;
namespace KM
const int MAXN= ,Inf=1e9;

int n,w[MAXN]| MAXN|,1x MAXN|,ly[MAXN|, lack MAXN|,p ! MAXN];
int linkx MAXN]|,linky MAXN|,visx|MAXN|,visy|[MAXN];
void init(int n

n=n;
_rep(i,1,n
lylil=linkx[i]=linky[i|=visx[i]|=visy[i]=0;
_rep(i,1,n
_rep(j,1,n
wil|l]1|=0;

void augment(int pos
int temp;
pos
temp=linkx|p[pos||;
linkx[p[pos! |=pos;
linky|[pos|=p/pos];
pos=temp;
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void bfs(int s,int k

queue<int>q;
_rep(i,1,n
lack[i/=Inf;
g.push(s);
true
Iq.empty
int u=q.front();q.pop();
visx/ul=k;
_rep(v,1,n
visy|v|==
Ixlul+lylvi-wlullvi<lacklv
lack/vi=Wx|ul+ly(vi-wiul[v];plvi=u;
ack/v
visy|(v|=k;
Ilinky|v
augment(v);
g.push(linky|v]);
int a=Inf;
_rep(i,1,n visy[i]!=k
a=min(a,lack[i]);
_rep(i,1,n

visx[il==k)lx[1i]-=a;
visy|i|==k)ly[i]|+=a;
lack|[i]-=a;

_rep(i,1,n
visy[i]!=k&&!lack|i
visy|il=k;
Ilinky 1
augment (i) ;

g.push(linky[i]);

int get pair

int k=0;

_rep(i,1,n
Ix[il=-Inf;
_rep(j,1,n

Ix[il=max(lx[il,wlil[]j]);

_rep(i,1,n
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bfs(i,i);

int ans=0;

_rep(i,1,n

ans+=w|linky/i/][1i];
ans;

struct Edge
int to,next;

edge  MAXN<<1];

int n,head MAXN|,edge cnt;

void Insert(int u,int v
edge|++edge cnt|=Edgei{v,head|u]};
head|u|=edge cnt;

int root ,SZ MAXN| ;
int h1[MAXN|,h2[MAXN|,dp MAXN]| [MAXN];
void Hash(int u
szlul=1,h1lul=h2[ul=0;

int i=head|u;i;i=edge!i].next

int v=edgel[i].to;

Hash(v) ;

szlul+=sz[v];

hllul=(hllul+1LL*h1l[v]*sz[v])%Mod;
h2[ul=(h2/ul+1LL*h2[v]*sz|v])%Mod;
hllul=(hl[ul+sz/ul)%Mod;

h2[ul=(1LL*h2[ul*sz[ul+sz|u])%Mod;

bool cmp(int a,int b hlla/==hl/b])&&(h2[al==h2[b]);
void dfs(int ul,int u2
~dplul]u2 ;
int cnt=0;
int i=head/ul]|;i;i=edge[i].next
int vl=edgeli].to;
int j=head|u2];j;j=edgelj!.next
int v2=edgelj!|.to;
cmp(vl,v2))dfs(vl,v2);

cnt++;

KM::init(cnt);
int i=head|ul],posl=1;i;i=edge[i].next,posl++
int vl=edgeli].to;
int j=head|u2],pos2=1;j;j=edgelj|.next,pos2++
int v2=edgelj!.to;
cmp(vl,v2
KM: :w|posl| [pos2|=dpivl]|iv2];
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dplul][u2]=KM::get pair()+((ul+n)==u2);
int main

n=read int();
_rep(i,1,n
int p=read_int();
p)Insert(p,i);
root[0|=1;

Hash(root ;
_rep(i,1,n
int p=read _int()+n;
p!=n)Insert(p,i+n);

root =i+n;
Hash(root C
mem(dp,-1);
dfs(root ,root C

enter(n-dp|root root ;
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